
1 10 210
3

10

|<0.5η|
〉η / d

ch
Nd〈

0

0.001

0.002

0.003

0.004

0.005

)
p

) 
/ 
(p

 +
 

d
 (

d
 +

 

ALICE

Pb−| < 0.5 for pp, Pby|

Pb−| < 0 for py-1 < |

 = 5.02 TeV
NN

sPb, − p

 = 5.02 TeVs pp, 

 = 8.16 TeV 
NN

sPb, − p

 = 7 TeVs pp, 

 = 13 TeVs pp, 

 = 13 TeV, high mult.s pp, 

 = 5.44 TeV 
NN

sXe, − Xe

 = 5.02 TeV 
NN

sPb, − Pb

 = 2.76 TeV
NN

sPb, − Pb

y/dV = 1.6 dcV = 155 MeV, chemTCSM, 

y/dV = 1.6 d
c

V), 〉η / d
ch

Nd〈(T = annTCSM, 

Saha eq. with annihilations

Coalescence 

ALI-PUB-573297


